[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015

..........................

..........................

......................

LLARS RS LALLE RALLN LAALE REARE RALAN RARAN RRALE LARR

L

0.0+
0.005
o +R : : T
- . .
5 i I

iinad -n-u-mr-i e = T : - - - - -
§ it
0.95 : x
1072 10 1

10 0?
TP vertr (cr%)

TTEwW-1 gl
é’t u owpt
owpt
ow {

ow

t sEecPLegsl-

=— pavMm
ficiend —— BolM-m
Efficienq —— BMm

~ 0.05
9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005

T T T T [T T [T [T T[T T[T T [T T [T [T T T [ TTT T ITTT

Ratio

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05

= : : : : :
] e A e

€ : : : :
:/_)004_ """ E’""""E """" E’""""E """ i

EAYOCIc IRNRR SO SR SN N |
P E : : : : :
O O AL SIS [ SIS
[} E : : : : :

D025 oo i
@ H . . . . .
O R A | S
0.015fF ------ T TR
0.01
0.005

lllll!

+
e
-
e
L +'."
&
+
iy
—H—

o OF=rpr :
T : 1 :
& 1.05Ft--{- 11 ANE H .
]_E—-n-- : ik ~ -o—-;-cp ------
%5 -5 0 5 0 15 20

éim. PV z (cm)



	Contents
	Page 1


